SII5EELR 4H F5t SFI55%ES5H 58 #5t #1556 H 6 H FA5t

# W B = XA L ¥ E XETELE ¥ E XETELE B E XATELE = XATELE B E XETELE

kg % kg % kg % kg % kg % kg %
BRI L RNL 12,694 64.9 12,694 64.9
AR O—X/\ L 45,548 78.8 45,548 78.8
B AT =L 0| ———- 0| ———
N E 58,242 75.3 58,242 75.3
BRAO=7Y—t— 1,013 111.8 1,013 111.8
BREIZIITIE)—E—D 7,639 79.5 7,639 79.5
BRI F—)—— 1,800,503 87.4 1,800,503 87.4
N E 1,809,155 87.3 1,809,155 87.3
BHEAR—> 51,041 79.8 51,041 79.8
BRO—RR—a 0| ——— of ———-
BB AT —_—y 444 80.6 444 80.6
N E 51,485 79.9 51,485 79.9
& &t 1,918,882 86.7 1,918,882 86.7
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2 A H = AT L = X ETELE X AL = X ATELE = X AT L = X ETELE
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SH54%E10R8 108 Bt SH5E11A 118 85t 55128 128 BEt
2 A H = X ATEE L M= X AT L M= X AT L M= X AT = XA L M= XA L
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SH6E1A ZES: SH6E2H A ES! SH6E3H 3HREt
2 = SR L # = SETELE # = SEIELE # = SETELE # = STRIELE # = STRIE L
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